
https://www.pass2lead.com/1z0-520.html
2024 Latest pass2lead 1Z0-520 PDF and VCE dumps Download

 

 

 

1Z0-520Q&As

Oracle E-Business Suite R12.1 Purchasing Essentials

Pass Oracle 1Z0-520 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/1z0-520.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-520 VCE Dumps | 1Z0-520 Practice Test | 1Z0-520 Study Guide                                1 / 3

https://www.pass2lead.com/1z0-520.html
https://www.pass2lead.com/1z0-520.html
https://www.pass2lead.com/1z0-520.html


https://www.pass2lead.com/1z0-520.html
2024 Latest pass2lead 1Z0-520 PDF and VCE dumps Download

QUESTION 1

Which four are supported by the Receiving Open Interface (ROI)? (Choose four.) 

A. Unordered receipt 

B. Dynamic locators 

C. Deliver transactions 

D. Movement statistics 

E. Correct transactions 

F. Receive transactions 

G. Transfer transactions 

Correct Answer: CEFG 

 

QUESTION 2

Which Inventory table stores reservations information generated for sales orders? 

A. MTL_DEMAND 

B. MTL_SALES_ORDERS 

C. OE_ORDER_LINES_ALL 

D. MTL_GENERIC_DISPOSITIONS 

Correct Answer: A 

 

QUESTION 3

ACME is implementing Inventory in a Process Manufacturing environment. The default profile for the Min-Max Planning
Report is deployed. What will be the result? 

A. Requisitions will be preapproved. 

B. Users must approve requisitions for items that have a limited shelf life. 

C. Users must approve requisitions for items with a Material Safety Data Sheet (MSDS). 

D. Users must approve requisitions that are inside the items Past Due Supply time fence. 

E. Users must approve requisitions when the quantity exceeds the item\\'s Economic Order Quantity (EOQ). 

Correct Answer: A 
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QUESTION 4

During the RFQ lifecycle, the RFQ is assigned certain statuses. Identify the RFQ lifecycle and its correct sequence. 

A. In Process, Active, Printed, Closed 

B. Active, Printed, Accepted, Complete 

C. Active, In Process, Received, Complete 

D. In Process, Received, Accepted, Closed 

E. Requested, Printed, In Process, Received 

Correct Answer: A 

 

QUESTION 5

ABC Corp. has set up the Asset Category Key Flexfield. It has also set up a Descriptive Flexfield to store vehicle
Information associated with the asset category "Vehicle." Identify two correct statements (Choose two.) 

A. The setting up of the Descriptive Flexfield is mandatory. 

B. The Asset Category Flexfield is owned by the Oracle Assets module. 

C. The Descriptive Flexfield attributes are associated with tables in the Oracle Assets module. 

D. Only the Asset Category Key Flexfield is associated with tables in the Oracle Assets module. 

Correct Answer: BC 
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